MafRZ19  HEHIIRA - et Beqb P B OBl e A A CEAB04EHE - ILARLIR) [1. kb Gz o Lo 3 ) DO 2 )0 LT ~23. o HBETEMBE R i i ]

REACFIE FERPEHE (kg/F, 2 A A% 2 Fdmg-TEQ/4F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 17 18 19 20 21 gg@ EQ%
5 WA, EERC| am | mawm | gy |RDEE | SEAL (| BERA- | RRE | 0|, g FEROB Lo B AZE | | RV S| SRR TAME | et
w5 P L R R A T L L e S A R 7 IO R Rl et
1 [WEShOKEHEILE Y 19 1.7 8.6 70 100
2 |727ULTIK 0.48 0.027 0.50
3 | TVILERTF L 169 169
4 [T IV RO OKEES 5.3 0.020 5.3
5 |TIUNER2— (CAFATI)) =F )L 169 169
6 |7 ZUNLAR2—ERRFL T L 0.053 0.00005 0.053
T |TIINEE I NN =T F 4.0 0.077 4.1
8 |TIUNERAT IV 0.026 169 0.0005 169
9 |[77Yu=kRiL 0.031 80 80
10 [77abAv 77 258 2,575 22 367 3.3 3,303
11 [TV RIw A 0.14 0.14
12 [T BN AFER 0.003 413[ 1,416 14,064 123 1,557 20 0.0005 30 17,625
13 [7Eh=FIL 82 111 20 213
14 | 7ER YT JERY
15 [ 7E)F77
16 |2, 2" —7VEAALYTFu=pJL 0.0003 0.0003
17 [ ANb—T =P
18 [7=V 0.081 0.005 0.087
19 [1-73/-9, 10—7 % /v
20 165 24,232 9,572 33,969
21 (nyEy
22 |74 a=)v 47 40 87
23 (XG—TI)Tx) =)V
24 | AHE—TI)Tx)—)v
25 [ ANT Vv 50 50
26 3—73I/—1—Fa~r
27 | AZ3pm
28 | TYNT a—)L
29 [1—T7ULAFT —2, 3—aRKFL T u i 138 138
T LR B ZVR R R D
30 ML (T ARNIEOBEFEIA100D14ET 966 1,691 43 67,106 11,986 81,792
DD R OZDIREWIIRD, )
31 [ TrFEVROZDILEY 25 65 1.4 91
32 |7y
33 i 0.21 0.21
3—AVTTFIAF N =3, 5, 5—RIAF
ey =ty T R 085 085
35 | AYTFATNATER
36 A/TL 2,244 2,244
37 [EAT7=/)—VA 1.5 0.72 2.2
2,2 —{(7eVF e R[(2, 67
38 |mE—4, 1-7x==L)AF ]V
J—v
39 |[7=F KA
40 [£7xFE—h 280 280
41 [TAT=L 40 40
42 [2—AF VT A 0.35 0.35
43 | A/ 0Bv
4 AV TBROZDIEY 0.00005 0.005 0.005
45 | =AU FFH—)
16 Xk T 14 U
47T [ THIRA 206 206
48 |EPN
49 [T ARV 1,491 1,491
50 |EYF—h
51 |2— TF LA~FH 0.23 0.23
52 [ TI=hNT 240 240
53 |ZF LB 45,527 11,278 48 29,170 1,317 39,480 1,413 453 224 10 4.3 128,924
54 RAFTE—h 33 33
55 |T=FL AL
56 | TFLUAFUR 210 74 284
57 | =F LY )a—LE)TF LT —T )b 842 7.7 0.055 849
58 |TF LS Ya—LE AT LT —F )L 42 0.040 42
59 |TFLLITI 0.024 0.0004 0.024
60 |[T=FL VT I MUFRE 2.8 27 282 312
61 |~ox7
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REACFIE FERPEHE (kg/F, 2 A A% 2 Fdmg-TEQ/4F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 17 18 19 20 21 ﬁg@ E?%S%
5 WA, EERC| am | mawm | gy |RDEE | SEAL (| BERA- | RRE | 0|, g FEROB Lo B AZE | | RV S| SRR TAME | et
w5 BREor )RR BRI BEAL B TN Tne s oo | PO SRR TR Ry e AT i com | smE e | | ST
AX AX

62 |w a7 10,379 10,379
63 [T uIR 787 787
64 |Th7=rTry A 210 34 244
65 |t rmoeR)y 0.11 0.11
66 |1, 2—TRFLTH
67 [2, 3— =¥ —1—F ) — L
68 |7 uEL 0.033 0.033

2, 3—TRF LS uE N =T z=/L=—F
69 |
70 |EYAT Y BlaZ BEBE K Orv Ay % %

FB1b % BEREORE
71 ARG gk 0.32 0.32
7 HULRT7 4 (RFHD 107 H13FETD

HOKOEDIREMIZIRD, )
73 |1—AH )= 0.11 0.00003 0.11
4 (NG FIFNT = )—)v
75 ARV LR OZDOEY 0.012 0.008 6.1 1.1 7.2
6 AT ur— TGS L 1.7 1.7
7 ISR T IR
78 12, 4—FTL/—
79 12, 6—FTL/—
80 [Flv 69,740 15,100 124 448 64,115 6,857 156,520 4,054] 2,236 531 8.5 22 319,755
81 ¥ /Uv 0.000008 0.000008
82 |[$RK OZDKEMALE Y 1.9 5.4 0.24 7.5
83 (/A 423 840 0.47 1,264
84 |7 UAFH—
85 | JNHNT ATER 9.7 0.008 9.7
86 /L —/L 0.003 31 0.0003 31
87 |[/u iRk O =flirusfb&8) 5.7 0.024 0.80 23 2.3 32
88 | Az a 0.70 61 62
89 |[Zunry =y
90 [ThIVr 278 278
91 T FVv
92 [ML7= EGR 210 210
93 (AT rm—L 348 348
94 [Hifbe=/1 0.030 0.030
95 [ ILT VT A 328 328
96 |7z /)af S —L 33 33
97 [1—/ma—2— (ZrEAF L) LB
98 | ZunfEfig
99 |ZoofffE=F L
100 [FLFFrm— 435 435
101 [7527u—n 356 356
102 [1—Zru—2, 4—Y =~ E
103 [HCFC—142b 2,228 2,228
104 [HCFC—22 31,032 31,032
105 [HCFC—124
106 [HCFC—133
107 [CFC—13
108 [A=7uy7 508 508
109 |ANVh—Zmrhlazy
110 |/XF—Zmaplx
111 2=z —4—=fpr =Y
112 2—Znn=pa~X ¥
13 ooy 110 110
14 (5 )77
115 [ 7= FFHIR 159 159
116 [~FUFTIIA 10 10
17 [T7a)ry—)L 1,476 2.2 1,478
118 [3/n7 4= 2.0 2.0
119 [7=r7aty—u 440 440
120 |ANVb—rmaTd e /)—)\
121 |G —maTdxz)—)v
122 [ 2—7nnr/ o4 U wg
123 M7 UL
124 |73m
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e AP BE (ke /5F, 7 A A%~ I EImg-TEQ/4F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
X GEERED S B | b |y . e - ; . s —fREE | R Az
oy Wes Yo | Lk Al | A g | VRAEBETS ﬁ‘ar’#uﬁﬂ Ak | B a7 - 3 YFLE\I/ f_z;_m HEE | g FERAE e il | fzE S | ATV {“/‘rzrﬂ% {E&af Tfkg%ﬂ SEmL | HElE At
ZEWLLF 7l Blih Al vv i H | b BT | o EME R | e fin
AX AX
125 7oy 116 294 0.83 1.8 413
126 [CFC—115
127 |[ZaafRL A 119 321 60 1.9 502
128 [H{bAF IV
129 [4—2ma—3—AFNT=)—)L
130 [MCP
131 [3—Zma—2—AF)L—1—F
132 |2/ VRO O(LEY 7.3 0.012 39 0.12 47
133 i;ﬁ:”: NESEFNE=TNT 765 0.004 765
134 Wi =L 78 150 0.42 228
135 1?1;‘/7‘U:~;1/{—/)<?/L1~7’*/1/7-12
P
136 | UF LT ILTER
137 [v 73K 3,692 3,692
138 [V Avh 3.0 3.0
139 [FFRAR 39 7.2 46
140 | 7= uRR)w 20 2.3 22
141 [TEXH=1 288 288
142 2, 4—VT3)T =)=
143 (4,4’ V7)) VT 2= )L T—T )L
144 Eﬁ;éj&-TT/fl:ﬁ%(ﬁ‘étﬁ&ovT/@tﬁé 1 102 13
145 [2— (V=FATI)) 24 ) =)L
146 [EVIRAAT L
147 [FAIINT 96 96
148 | B 7 =2 Apo—/L 209 209
SECRICE RIS 0.11 0.11
150 (1, 4—VAF ¥ 7.0 2.6 9.6
151 |1, 3—=VA4%V5
152 (IS T 3,694 3,694
153 [ TR AR 198 198
154 |2 7a~Fi 7
155 IN— - 7a~F  VFA4) 7HVAIN 0.32 0.76 1.1
156 |¥7onr =)
157 |1, 2—Y7an=iy 9.5 0.094 9.6
158 fifkt =7
159 [ A—1, 2—v/anxFL o
160 |3 3 —vrman—4,4 —TTI)TT =
JVAZ
161 [CFC—12 3,716 3,716
162 | 7o FIF 108 108
163 [CFC—114
164 [HCFC—123 864 864
165 |2, 4—Y Loy
166 |1, 2—y/mn—4—=pa~ L
167 |1, 4—y/mpn—2—=fa~ L
168 (A7 oAy 640 640
169 (Yo 92 92
170 |Fh7a)y —
171 |[Fue=aty—i 29 19 47
172 [ AF PP 7arRy 180 180
173 [bv oy
174 [V==an> 178 178
175 |2, 4—D 130 130
176 [HCFC—141b 5,817 5,817
177 [HCFC—21
178 [1, 2—Y 77y 2.8 2.8
179 [ID—D 29,841 29,841
180 [3, 3" —v/ma Loy
181 [Yrmp~s B 0.17 155 41,300 0.002 7.0 41,462
182 BT/ ¥y 7=
183 [E'F/L—Fh 494 494
184 [Y7u~=) 475 475
185 |[HCFC—225 8,295 8,295
186 [HifbAFL >~ 16,765 9.5 16,774
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BRI A FERPEHE (kg/F, 2 A A% 2 Fdmg-TEQ/4F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
! W HEXRO | w | . o |HREBDSTG| VAL BRA PR s L BEEE) . | SR | W EVUR A | A | T 0 TERRE | gy

w5 BRhar R REABEA B T Dwaw o | v om | PR R T I e | | ool Rm | R | e | b
187 3,234 3,234
188 TURNF LTIV
189 |Ns N—P2 IRl —2 =~y F7

SV ANT 2 TIR
190 |[PyynLavTy
191 AV TaF+5 300 300
192 | =T 47 = IRA
193 |=FNFA A
194 [xHm
195 |7 uFAHRA 45 45
196 | AFHF A 3,814 3,814
197 |[~7/v 1,241 1,241
198 | AR=—h
199 [CIZ /4L A£ 1260
200 |Y=hahlx
201 (2, 4—Y=ba7=/)—)L
202 | PE =R P
203 DT x= VT 0.20 0.20
204 |V z=)LT—T )L
205 |1, 3— V7 == VT T =D
206 | HNVRANLT 7 _ 7.8 7.8
207 3&5»/ PRV =TT AT 0.55 22 8.5 0.029 31
208 |2, 4~V —H—¥U—TFNLTx/)—)L
209 |7 mEIOOAR 170 96 266
210 |2, 2— 7 uE—2— T )7 ERTIN
211 /"2 —2402
212 [7E7=—Fh 773 773
213 [N, N—VAF LT ERT IR 41 0.13 41
214 [2,4— =
215 |2, 6=V AF AT =V
216 [N, N—VAF LT = 0.005 0.005
217 | FAL T 225 225
218 [VAFNT IV 0.53 0.021 0.55
219 |[VAFNT AT AR
220 | PAFINTFF ISV EED KN
221 [ RUTTHNT 215 215
222 |72 ) FAINT
223 [N, N— VAFARF AT
224 g’FN TAFAMETUNTI=N=F% 0.78 8,312 57 8,369
225 N7l 600 1.9 602
226 |1, 1=V AFLERTVL
227 [/35=a—h 540 540
998 3,3 ‘—*‘/“)(?/v\l:\'7::/v—4, 4’ —oA

N=DAY LT F—h
229 | FA 77 R—I ATV 1,465 1,465
930 N—(1, 3—*‘/"7‘%1»7?]L)—N’—7:

SN RTG =T 2= VTV
231 |A/Vh—R)T
232 [N, N—VAF LIV LT IR 11,749 11,749
233 [Tz hT—h 146 146
234 | L% 0.087 0.087
235 | R RFROKIEMES 0.00003 0.00003
236 | TAAF =)L 60 60
237 KRR OZO(LEY 0.45 13 13
238 |K#E(T N T z=)L
239 | HHEARLEY 0.43 0.43
240 [ AFL v 1,762 0.018 79 879 7,994 754 421 126 12,014
241 2—AJVIRAFH T AU — 1 — AF LT A

TR L
242 | XL R OZEDOILEY 0.003 0.0006 0.004
243 A AAXL A 193 193
244 |H Avb 13,518 13,518
245 | FAIRFE 0.0001 0.0005 0.0006
246 | FAT =)=
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BRI A FERPEHE (kg/F, 2 A A% 2 Fdmg-TEQ/4F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
: W HEXRO | w | . MBS | VA1 BimAR R mEIo L BEEE) . | SR | W EVUR A | A | T 0 TERRE | gy
w5 BREor )RR BRI BEAL B TN Tne s oo | PO SRR TR Ry e AT i com | smE e | | ST
AX AX

247 [TV RA
248 AT ) 1,015 0.46 1,015
249 [7aLEYRA 1,575 1,575
250 [ A/XYFA 82 82
251 |7 z=bnFF 6,589 124 6,713
252 [Tz T Ay 34 34
253 |7a7x JRA
254 | A7 ORURA
255 | FHTBES T 2=/ =T )L 2.4 2.4
256 |7 R 2.0 2.0
257 | T/ —)v 0.002 0.002
258 [ ~FYPAFLUTRIIV 0.091 388 0.008 388
259 |SANT 4TI 0.64 0.64
260 | ZouXn=/u 2,617 2,617
261 |[7HIAK 51 51
262 | FhIrunEFL 1,350 1.5 3.2 1,355
263 [CFC—112

2, 3,5, 6—7h7/RE— 37— %
264 |7
265 |7 hIERRAT VIR T 2V R
266 |77 /VEJ 8.5 8.5
267 | FATHNT 395 395
268 | FUT A 0.67 9,026 9,027
269 | A/ 7 Ah—/v
270 | FL7HVER 0.0003 0.0003
211 | FLIANBEDAF IV
272 |SRRKEVERE (BEHE A RS, ) 4.9 36 0.96 7.8 4.6 54
273 [N~V —RF YT ha—L 0.042 107 0.000008 107
274 |[Z—VxV—RT o FH—n
275 |[NF L VRGRET R 4 155 69  0.005 22,011 3,107 25,342
276 | ThITFL "L HI 1.2 1.2
277 [N=F LTI 105 174 279
278 [N =FL > FhF3v 4.8 17 22
279 |1, 1, 1—Rymp=g
280 |1, 1, 2—R)ymp=X
281 |MZroxFLo 4,036 0.74 4.5 4,041
282 | MY 0.66 0.71 1.4
283 (2,4, 6—Krrr—1, 3, 5— N7 I
284 [CFC—113
285 |yanE sy 2,742 2,742
286 |N)ZHE L 138 138
287 |2, 4, 6—h)ran7=/—L
288 |[CFC—11 5,791 5,791
289 |1, 2, 3—Kzrarms Sy
290 |N)Zmp~_ B

1, 3, 5—FA(2, 3—Z=RFL T rE L)
291 |—1, 3, 5—N7Yr—2, 4, 6(1H, 3H,

5H) — A~
292 N7 FALTI
293 [N LTV 546 546
294 (2,4, 6—N7TBETx/—/L
295 |3, 5, 5—hNAF /L —1—~FH /—/L
296 |1, 2, 4—RAF AP 14,547 692 220 1,040 19,060 239 20 79 35,897
297 |1, 3, 5—RNAF AP 6,096 365 69 11,770 1,394 12,492 516 516 81 9.5 7.7 33,316
298 (ML AV T % —h 1.6 1.6
299 ML AT
300 MLy 116,597 2.2 1.1] 4,572 61,730 12,863 494] 266,906 6,022] 3,639 790 123 0.99 473,741
301 ML P
302 [ F7HLY 1,169 91 0.38 587 93 6.7 1,948
303 |1, 5—F 7HLLLVAN=DA) LT F—h
304 |4 0.036 0.036
305 ke 3.7 283 1.1 20 5.8 314
306 | T ZUNEANFPAF L 0.070 0.070
307 | M kR by va=o A
308 |=v v 0.0006 0.0005 0.001
309 |=v7 MEEH 2.8 237 0.41 5.4 245
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ABEEE ERTHEIL it (ki 7T 7 7%+ B Fme TEQ/7E)
i 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 ﬁg‘g EQ%
o WA HEEAD | x| m . o RS SRR BERALW | W mEIo | - BREE)| .. | BRE | WZE | | VU A% SEH | TALE | ol
w5 Wrpow| meE o B wEA | we T Taam s vr | PRI SR TR R e T T m | oo mE | R | ey | R
X X
310 |=hUn = kg
311 [A/Vh—=faT7=Y—/L
312 [ ANbh—=brT =Y
313 =hes)ely
314 |/XF—=prraa By
315 |A/Vh—=brLT
316 |=hp B 0.39 0.39
317 |=haAZ 0.055 0.055
318 | “hifb RSB 0.24 0.020 0.26
319 | /)~ — =)L T )La—L
320 | /=T /)—)v 0.006 0.12 0.12
321 [N FUTMEEY 0.055 17 0.24 17
5 —[N, N—ERA2—TtEFLAFr=
399 FTI] -2 —(2—TrE—4, 6 39 31 70

=ha7 == TY) =4 — AR T RS
=yK

-6




MafRZ19  HEHIIRA - et Beqb P B OBl e A A CEAB04EHE - ILARLIR) [1. kb Gz o Lo 3 ) DO 2 )0 LT ~23. o HBETEMBE R i i ]

BRI A FERPEHE (kg/F, 2 A A% 2 Fdmg-TEQ/4F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
: W HEXRO | w | . o |HREBDSTG| VAL BRA PR s L BEEE) . | SR | W EVUR A | A | T 0 TERRE | gy

w5 BRhar R REABEA B T Dwaw o | v om | PR R T I e | | ool Rm | R | e | b
323 [V AR 57 57
g9 | L B-EAL(2, 3—=HF T atn) 4%

DAL 2
325 [ A XL 2,230 2,230
326 | ya7xLFVv
327 |1, 2—ER(2—Znnr==/L)ERT
328 [T 0.26 704 704
329 |ARUB—/3A—}h

ERA(1—AFN—1—Tz==/LTF L) =~
330 | g 0.38 0.094 0.47
331 [ W AHFRA 12 12
332 | fit#H R O DR &) 0.0000009 0.0000001 2.3 0.28 2.6
333 [ERTIv 0.32 0.32
334 |4—ERuR 2 B EFmMAT IV
335 N— (4—tRFuds 7==/L) 773N
336 [bRm¥ /v 1.5 1.1 2.6
337 [4—E=/L—1—ra~Ftr
338 [2—E=/LEYD
339 IN—E=/L—2—ErJR
340
341
342 0.45 0.066 0.52
343 [hFa—n
344 |Tx= VA XL T
345 |7 z=/LERTVL
346 |2—Tx=NT=)—)L 0.086 0.086
347 IN—7==/L<LA3K
348 | Tx=L VT
349 [T7=/)—L 24 0.025 0.24 24
350 | ~JLARYY 791 62 854
351 |1, 3—7H#Tx 432 302 8,674 179 452 25 10,064
352 | ZHNEEY TV
353 | THNVRETTF )L
354 | FHNREY — IV —TF)L 3.2 15 242 261
355 | 7HNFRE A (2— =F AA~F L) 126 5.5 131
356 | THNEE /NI — T F =D 0.17 0.17
357 |7 u7=Vv 3,230 3,230
358 [T 7 7= /)UK
359 IV =T F =2, 3—TRXT T ur’

JLT—T )L
360 [~V 5,575 5,575
361 vtk ST I 172 172
362 |7 7= Fyns
363 AXHITV 344 344
364 |7z EOFUA—| 251 251
365 |BHA
366 | Z— v —7F)L=bRa~YLAF R
367 | ANL—ENH )T FNT =) —)b
368 [4—H—L YT FNTx/)—)L 0.005 0.005
369 |/ L¥ R
370 [EVZ R 40 40
371 [T7 7= BTN 40 40

N—(Z—3 v =T FNL) =2V FT
32 [ a 73R 0.32 0.32
373 2—H =¥ —TF N —5—AF LT =

J—v
374 | 5o KR O DKM 1,933 935 2,868
375 [2—FTF—)v
376 |7 ra—L 903 903
377 |75
378 | TR 1,680 1,680
379 2—7mEy—1—F4—
380 /N —1211
381 [ THETIOUAS 49 13 62
382 /N —1301
383 [ TmviL 656 656

-7




MafRZ19  HEHIIRA - et Beqb P B OBl e A A CEAB04EHE - ILARLIR) [1. kb Gz o Lo 3 ) DO 2 )0 LT ~23. o HBETEMBE R i i ]

BRI A FERPEHE (kg/F, 2 A A% 2 Fdmg-TEQ/4F)
Wi 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 ;&2“% E?%SE%
5 WA, EERC| am | mawm | gy (TOEBE | AL BimA- | R I g FEROB Lo B AZE | | RV S| SRR TAME | et
w5 BREor )RR BRI BEAL B TN Tne s oo | PO SRR TR Ry e AT i com | smE e | | ST
AX AX

384 [1—7aET Ny 3,956 3,956
385 [2— 7 mET S
386 | HLALATF L
387 |WEfb 7= THAR
388 |=URANLT 7
389 ;%%7//VI~U)<%/L7/%A'7A77DU 3.3 398 53 454
390 [~FHAFLLITI
391 [ ~FHPAFLL=VA/VT F—h 0.17 0.17
392 | I~ —~FH 22,550 839 5,998 53,534 1,376 0.094 8.7 84,305
393 [~NHFTh—L
394 | RV AR OEDLEY)
395 |[~LARY RO KGN 5.2 5.2
396 |[PFOS
397 |V =RNralk
398 [Hifk~ oL
399 [NURT LT ER 0.0005 258 3,753 112 235 17 0.00001 4,373
400 [~ B 1,124 0.74 10,678 246 58,367 1,745 3,444 246 0.38 24 75,877
101 |b 2 4—_UBUNINVRC TR, 2— B

/)
402 [ A7 =F &k 445 445
403 [~ T ) 0.001 0.0001 0.001
404 [~ HranTx )=
405 [13H5#(LEW 71 13 4.5 88
406 |PCB

RY(FFL=FLo) =T AFNLT—T /L
407 | (T ARNHEDBRFERN120515ETOL 8,201 14,110 7.8 204,504 4,822 231,644

DR OZEDIREWNIRD, )
408 i”_(;fﬁ/lﬁ//)*iy%‘ﬁl*” 114 1,699 1.2 182 5.4 2,001

R (AFv=FLy)=RFvLo—T)L
109 o 2L 44 420/ 0.074 35,240 4,792 40,496
410 ﬁ%ﬁwlﬁ//)*/”’WI””’l 2,200 5,473 14 719 108 8,513
411 [V LT IVTER 963 143 1,150 371 32,114 372] 6,960 63 295 225 8.7 42,665
412 v R OZEOEY 1.6 0.008 1.7 2.4 5.7
413 [MEAKT H L 0.11 0.11
414 B~V A 0.006 0.00003 0.006
415 [AXVUVIE 32 0.49 33
416 [AFVUNEE2 — = F L~F L
417 [ AZIVVEE2, 3— TR¥T 7 ae)L
418 | AFIYNER2 — (PAFNTI)) =F )V 0.008 0.005 0.013
419 [ AZIVIVEE ) N~ —T F v
420 [AZVUNEEAT L 535 91 2.7 628
421 |4—AFVTF o A¥H —2—F
422 [ 7=V NS 83 83
423 [AFAT I 0.0003 0.0003 0.0006
424 [AFN=AVF AT R—h 7,500 7,500
425 AV TahiNT
426 [HNRTT
427 [N NY )L 95 69 164
428 7= )T INT 99 99
429 [ ~BALTEL AT 90 90
430 [ R¥HINLT 15 15
431 |7V %L AbmE Y 826 826
432 [73INTX
433 |1 —/31 1,200 1,200
434 [AFHIL 45 45
435 |EUS /NI AF )V 12 12
436 | TN T 7 = AFNAFL
437 [3—AFNF AT F—)L
438 [AFNFTHL L 1.5 156 0.34 0.016 158
439 [3—AFNEVVL

1—AF NV —1—T ==L F L=tRka~x
0 0ok 0.002 0.003 0.005
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MafRZ19  HEHIIRA - et Beqb P B OBl e A A CEAB04EHE - ILARLIR) [1. kb Gz o Lo 3 ) DO 2 )0 LT ~23. o HBETEMBE R i i ]

XA AERTHE R (kg /4, X A4 Bl dmg-TEQ/4F)
o 1 2 3 1 5 6 7 8 9 10 11 12 13 14 5 17 18 19 20 o1 ;;gg EQF%
5 WA Wl mx | mem | = gy | RIS EAL(C DAL R | 0| e TRABY Lo | BB o AVVE FER IEEA Thwm o e
w5 Wrpow| meE o B wEA | we T Taam s vr | PRI SR TR R e T T m | oo mE | R | ey | R
AX AX
141 2— (1—AFNLTHENL) —4, 6— =k
Tx/)—=)v
142 ATa= 60 60
143 AL 45 45
444 [N7aF L AREEY 169 169
445 LI IAT 294 294
446 |4, 4 —AFLLUT =0
w7 AFPVEAQ 1= s e F ) =Y
AT x—h
qag [PV EAM, 1T =Sl) =UAY 14 0.035 14
75—
449 [T AT AT 7
450 (VT FILNT 323 323
451 [2— ANy —5—AF LT =U
152 |2~ ALHTIALTF TSI 0.27 0.27
453 [BVT TV ROEDILEY 1.8 64 0.39 66
150 [2— (RN JDTA) T FT T 0.036 0.036
455 AN 2.4 19 7.3
456 DAALTAI=D A
457 [C/HARA 373 373
458 |WAFERY A (2—=F L~FL)
459 [WARERYA (2— /T )L)
460 |0 AFER NI 0.82 0.82
461 |DABER T ==L 22 17 38
462 WAFEN— /N~ V= T F )L
= F 335,561 189.825 1802 6,749 167,450 0 362,7120] 41887 43.354 5513 676467 15313 21,804 2.127] 021 0540 57,742l 193 0 36221 1243 304 1,066,723.21
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